
File Name Description
205504 M4 x 0.7 Spring Nut
205505 M5 x 0.8 Spring Nut
205506 M6 x 1.0 Spring Nut
205508 M8 x 1.25 Spring Nut
207443 1/4 x 20 Spring Nut
639971M M6 x 1.0 1 Hole T-Bar, .75" long
202390M M8 x 1.25 1 Hole T-Bar, .63" long
643874M M6 x 1.0 2 Hole T-Bar, 1.50" long
200626M M6 x 1.0 2 Hole T-Bar, 1.62" long
200830M M6 x 1.0 2 Hole T-Bar, 1.75" long
639717M M6 x 1.0 2 Hole T-Bar, 2.00" long
300150M M6 x 1.0 2 Hole T-Bar, 2.52" long
300536M M6 x 1.0 2 Hole T-Bar, 2.88" long
639971 1/4 x 20 1 Hole T-Bar, .75" long
300150 1/4 x 20 2 Hole T-Bar, 2.52" long
203446 M8 x 20 Twist Bolt and Nut
203447 M8 x 35 Twist Bolt and Nut
206685 M6 Twist Nut
307000M T-Slot Extender
645656P T-Slot Cover
23M29 Flexible Coupling 12 mm bore x 10 mm hex
23M31 Flexible Coupling 12 mm bore x 12 mm bore

2200 & 2700 Series Hardware Accessory Files


